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A i = BB 4R EER750VAC
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HIE 2T True-Rms(38 i HE4%)
WABR:< 0.2VA

¢ AB: R0 7E {B: bR 1, SOFF20%H 4B IR
BE KA B ; 2038 E 1%
I E 21 True-Rms
A B < 0.3VA"

¢ A\ EEGE:  45-65HZ EEESEE 1 50/60HZ

¢ Hhugg A(DI): WA AT ERNEFEGE] ERE)
B A 2B PR B E B A #£4000VACrms.
i A E i 3.7mA< K 10mA

¢ BTERIEEANE: 5A/250VACZKEA/30VDC

¢ BEEE 128poine/cycle

*ZEERFEE by EEPROM

¢ O] FERFE: < 300msec

& 5 TR < 300msec

¢ BExELE: >500MQ

¢ BB EEE D AC2.5KV/1min
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GPM-6 [#ems1] - [fems2] - [R#83] - [Ki\4] [R785) |[fEise|

* EEM B EB:<100ppm/T
¢ RPEBEM  <0.2%fF
BB E: Modbus RTU mode
¢ B EEER 600/1200/2400/4800/9600/19200/38400
& E A 1~247
¢EE: <400g
¢ [FAIBIEE:  -25~55T; 0~95% RH GE45 )
¢ EHEREE:  -40~70°C; 0~90% RH (GEA &)
L o= - aH 86Kpa~106Kpa
¢ THEBR AC85V~265V / DCI6V~300V
* BEREE: LCDB5(W)X58(H)

¢ DhFE: <=2W
¢ IEE:

B 05% (V)

T 05% (A)

JE=: 0.2% (Hz)

IhERE: 1% (PF)

BREHE: 1% (Watt)

mAyTHE:  +1% (Var)

BEHE: +1% (S)
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